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(A) TS qHESTH

(B) IR TUOT (HATE)

(C) SH=H

(D) e @ fawa

FRa—@w 111-114) Fr=fafga g &

M ¥ Yieq 3 R T usi F SO 4 9 HE
T &I difhd HifeTT—

TS T HIIfE Aol 3. WIS § (@A arel
B SHM 39 U eIVl ¥ 1@l 5, g I
T @ B K A Y U/ B AW B, A 99 GHER
& TEdl, 98 HUeq 99 AT 8. $B1 O 9§ S ©
feh we 3R U a7 81 ™@E 8 9N 8. ey 9 {6
AT AT TN § agd O §. B9 S-S A
42 o @ E, °f 79 a8 ot gl R 9@ ©.
i faeet ©e g wd €, a S8 g fewa @
&TaT. Uil aryferal i ferst @9 Bk &, dr g
a9 ST &. gatee WA ¥ A & o e § AR
TS &7 1. 4 & S gg # ot Ao 8 o WY
&1 .

111, 99 91T Hepell 4 BHT HA-aid? ® &,
A T 9 I ¢ 7

110.

(A) T@ (B) ®HAR
(C) "I (D) WU
112, W BT AT JI0T ST T E 2
(A) 899 (B) \rmfs
(C) Hleemirit (D) 19T
113, ‘U 307 % aRE’ B1d 8, sl & ad

;e

(A) U 37 UE &I A6l Bl

(B) U 3T U & WIS e Biel &
(C) U H qeT 7 Bir

(D) THar & & BT B

114. dial siqforal fA@wt @2 B §, o @1 &9
AT & ?
(A) gzt (B) gam
(C) 14 (D) aws

FRa—@oT 115-118) Reg @F &l 98l [Qae
g uftu—

116. faams @1 gsell adiic W TH X

(A) TER (B) STERR
(C) F@BR (D) HWEmER
117. @ od &, 3= ..o, TS T,
(A) e (B) srgefera
(€) gha (D) ufitm
118. TF 94 § A5 ......... 3 3.
(A) HE® (B) f&ag
(©) #E (D) w&x
119, ‘=21 9FT 9B BTEY & TEl 9 §—
(A) Wiy &1 (B) @i@s 86
(©) sram & (D) wadi| s
120431 ... 98 @’ ety & fem wE ©
W = B
(A) J9gT (B) T
(C) w3 (D) it
121, FE @M CAGA ......... HAT GHH H OB
(A) & (B) A<t
(C) w=ir (D) faad
122, ‘9 &1 g H faser’ dmiien &1 wd o

B

(A) TIGr KT B

(B) B 9R FI TG AT
(C) =¥ # 9e9H a0
(D) O & = 3T

123. F=ifafea § & O 90 9T 9 &
(A) FTHIH (B) eiigs
(C) aha® (D) s
124, Frafofad § ¥ gz St amer 9L 5—
(A) TEoll (B) T
(C) et (D) afei



125, Frfoaf § g ama & —

(A) YTl &1 J=1 A1 787 4

(B) el &1 "o o @ oAt

(C) ~atl &1 ZHY! 0 T 4@

(D) s @ s o @ 4

. Frafeofeaa @ & g g &—
(A) THI B Hrew? T e
(B) a1 & wIEHT e FEwai
(C) q3 3H 9 HEeran el

(D) FaEn & ugrE g &7 ot

127, f=fafaa 5 198 yaig g= T8 %—
(A) wmT (B) wregedt
(C) = (D) 9=
128, ‘S5 s &1 qudt 9 §—
(A) daqmr (B) 6
(C) W= (D) Tt
129, 'Ig%pa’ = & AW-aE 3—

(A) S (B) AIIFA

(C) FF (D) FIFHa
130, ‘S’ @ fasm-a & —

(A) =194 (B) &

(C) =pd (D) o

Directions—(Q. 131-134) Read the passage
given below and choose the correct option to
answer each of the questions that follows—

There was once a fisherman who was also an
excellent flute player. One day he took his flute
and a fish-basket, jumped up on a rock and began
to play his flute. He was convinced that the fish
would be enchanted by his music and leap into his
basket willingly. Unfortunately, he did not catch a
single fish. So he went home, brought his net and
threw it into the water. He caught so many fish
that his basket overflowed, ‘Stupid creatures !* he
cxclaimed, as he watched the fish twist and jump
into his net.” You did not dance when I played my
flute, but when I am not playing, you can’t stop
dancing !’

131. With what could the fisherman succeed in
catching fish ?
(A) A flute
(B) A fish basket

(C) A fishing net
(D) None of the above

. Why did he play his flute ?
(A) The fish would be charmed by the
music
(B) The fish would dance on a rock
(C) The fish loved the fish basket
(D) None of the above
. Why couldn’t he catch a single fish ?
(A) The fish didn’t like his music
(B) It is foolish to catch fish with a flute
(C) His flute did not play well
(D) None of the above

Why did he call the fish ‘stupid creatures® ?
(A) The fish are really stupid
(B) The fish did not like his music
(C) The fish were playing in the net
(D) None of the above
Directions— (Q. 135-138) Fill in the blanks

in the following sentences with the help of options
that follow—

134,

135. Whydid youtell ......... lie ?
(A) a (B) an
(C) the (D) no article
136. The medal was won ......... Ram.
(A) for (B) with
(C) by (D) on
137, He took pride ......... his victory.
(A) for (B) of
(C) with (D) in
138. She was gazing ......... me.
(A) on (B) for
(C) at (D) into

Directions—(Q. 139) Identify the part of
speech of the bold word.

139. [ am going to the airport—
(A) Noun (B) Verb
(C) Preposition (D) Pronoun

Directions —(Q. 140) Identify the tense of the
following sentence —

140, She looks after her aged mother.
(A) Present Indefinite



(B) Present Perfect
(C) Past Indefinite
(D) Present Continuous

Directions—(Q. 141-142)—Identify the
word whose spelling is correct.

141. (A) PROPARTY (B) PROPERTY
(C) PRAPERTY (D) PRAPARTY

142. (A) MINATE (B) MINITE
(C) MINUT (D) MINUTE

Directions —(Q. 143-144) Choose the correct
one-word substitute for each of the following —

143, A person who operates the controls of an

aircraft—

(A) Engineer (B) Captain

(C) Pilot (D) Driver
144. Qualified/Fit to be chosen—

(A) Passable (B) Eligible

(C) Mediocre (D) Ordinary

Directions—(Q. 145-146) Choose the word
which is similar in meaning to the one in
capitals —

145. BRUTAL
(A) Cruel (B) Cunning
(C) Lonely (D) Unfair
146. ELEGANT
(A) Ardent (B) Odd
(C) Bold (D) Refined

Directions—(Q. 147-148) Choose the word
which is opposire in meaning to the one in
capitals —

147. LIBERTY
(A) Unhealthy (B) Slavery
(C) Freedom (D) Vice
148, SUPERIOR
(A) Junior (B) Senior
(C) Lower (D) Inferior

Directions—(Q. 149-150) Identify the part of
the sentence which has an error in it, In case there
is no error the answer will be (D).

149. Ram has a / large number / of money
(A) (B) (©)

No error
(M)

it L L

- T

YTRFW W W=y - L

150. I shall not / come to you / if it will rain

(A)

(B)

(C)

No error

M



